631A

moshaveranetahsili.ir

J S oS

> 631

1Fee Jlom JB10 Law gl wi )l ol 45 5100 590 (59958 (3903 T

Aadgdn oo ¥l C8llon 2gds p¥al SUBLLILS S0

{o)) gans olol

olpl ol o3t
Ea3bd g R pgle ol

A5 oyl B slajle

‘ (10+F 05) = (S juols 535858 38 I

aiy85 10+ 1 g o5 Frmly ke

1o flaue oo

o}'l;..u 8 kol g luoas ‘_,1..ur....n1 .:13..: 0]3.'.3

Sl T | Bgtas 3t | Gleloind ellniat g g
r- \ r. (ot} nndeh g wges b3 ¥
ad Y\ s bt g et Y
W &F % S5t v
¥ I Y5 (i ¥

RARA R IR 2 e R e R R R RA R RARA RA RA R

ol jloe ol foble 3 saldnial

gl Ao dged ge il ol

R R R 2 R R R R R e e R R RA KA R R R

gt gl ity e s b U g A2, o e el i yaten b LS, Bt g oA ol aled ol ciyme 3T 5155 0 b ot (o P ) 5 gt 0 Wi Ly g5 gl v

moshaveranetahsili.ir



moshaveranetahsiliir,, =

Y i

R C’S-BJT dndze 30 Losls yguiren pac A eds b Jader Giler joio jo Lasl g Glasln &8 pae (ol 5 cdbigls e

g 05 ohaiun Bylosd oarerlackly «Jol8 alET 1§ wovorciianiennsin csalbglo B bl s idloni!
JG Jf.d-' a8 3 EBJ ¢u5’!5.w d-"‘rj.é‘b 9 Mh@uh ‘SYLI d-w.L"b' 4 894 u)]-'l- 6'}".' J E_'J.Ju.n t_fn.ch].B aJLc.u.r Lf
mledgo anlh 1y plaoligunly oily 3 V1gw da i85 g9y p0ad

HgmertSil) (il 5 ogas

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4} that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only helieved me after an evewitness —---—----—- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—--—---—-- advantage; we will all benefit greatly from it.
I} concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
rejeet violenee as a means of political change.
1) mcans 2) instruments 3) devices 4) gadgets

4- Al parents reccive a booklet which ------—--- the school’s aims and objeetives before their
children start their first term.
1) clarilics 2) injects 3) conducts 4) notilics

3-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can afford it.
1) redundant 2} diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your ---------- right out of the ring!
L) protagonist 2) opponent 3) reteree 4) beneficiary

7-  The cost of the damage caused by the oil --—--——-- will be around S200 million,
1) spill 2) guilt 3) damerit 4} extenl

8  Most of us - when we hear that many children spend more time watching TV
than they spend in school If's a rather scary thought.
1) withdraw 2) retreat 3] recoil 4) regress

9-  Even though he isn’t enrelled right now, Calvin says he will go to college -----—---- 3
1) creatively 2) delicalely 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are ---—---—--—-,
1) superlicial 2) [rigid 3) perilous 4} cautious

PART B: Cloze Test

Dircctions: Read the following passage and decide which choiee (1), (2), (3), or (4) best 1i6s cach
space. Then mark the correct choive on your answer sheet.

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) ---—------—- much with a
conlemporary perlomiance picee, but they are both considered art.
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(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted
certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.
11- 1) share 2) be sharing 3) have shared 43 be shared
12- 1) Although 2) Despile 3) Regardless 4) However
13- 1)that 2) thatin it 3) which 4} in which
14- 1) of it made 2) made 3) how 1t is made 4) it is made
15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Dircctions: Read the following three passapes and answer the questions by choosing the

best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

Due to widespread and prolonged use of lead. it is one of the most ubiquitous of the
toxic metals. Exposure to lead may be through air, water, or food sources. [norganic
lcad may bc absorbed through the digestive (racl, the pulmonary sysiem, and the
intcgument. Ingesied inorganic lead is absorbed more clficiently [rom the alimenlary
canal of children than that of adults, readily crosses the placenta, and it could be
penetrated into the blood-brain barrier. Initially, lead is distributed in the blood, liver,
and kidney, however after prolonged exposure; the bone tissue is the best site for
deposition of lead as much as more than ninety percent of the hody burden.

[nduction of mild or severe toxicily ol some metals including Iead, mercury and
cadmium, depends on their transport and intraccllular bivavailability. This availability
is regulated Lo & degree by high-allinily binding (o certain cvlosolic proteins. Such
ligands usually possess numerous S-H binding sites that can outcompete other
intracellular proteins and thus mediate intracellular metal bicavailability and toxicity.

16- Considering the lead as the ‘most ubiquitous’ metal, defines it as --------—- 5
1) the only toxic metal 2) a metal found in all places
3) a special toxic metal 4} a high hcavy metal
17-  All of the following organ systems are the sites for absorption of inorganic lead
EXCEPT —-—-—-- .
1) skiin and appendages 2) respiratory system
3) endocring syslem 4) digestive sysiom
18- FKollowing the long-term usage of lead, in which structure the most amount may be
deposited?
1) Osteoskleton 2) Urinary tract
3) Blood vessels 4) Hepatocytes of liver
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Induction of toxicity by the metals mentioned in the text is related to ----—---—--.

1} intercellular bioavailahility

2) inhibition o[ binding 1o proleins

3) tendency Lo combine with definite proteing

4) transportation from intracellular cyvtoplasm

“S-H hinding sites that ean outcompete other intracellular proteins™ means that —------- .
1) the siles arc exited (rom competition,

2) the binding sites are defeated by intracellular proteins.

3) these proteins are deteated by such binding sites.

4) these siles cannol overcome 1o proleing.

PASSAGE 2:

The clinical examination of the herd in which many animals may be atfected with
clinical or subclinicul discascs, hus become a major and challenging task. Imtensilicd
animal agriculture may result in an increased frequency of herd epidemics of diseases
such as bovine respiratory disease and acute diarrhea in beef calves. Tn this regard,
velerinarians have a major responsibilily (o ensure thatl the meat and milk produced by
the animals under their care are free from pathogens, chemicals, antimicrobials. and
other drugs that may be harmftul to humans.

Because of the reeenl coneern aboul the contamination of meat supplics by
pathogens and xenobiotics, and the economic effects of such contamination on the
gxporl markets, il 18 now clear thal velerinarians will become increasingly involved in
moniloring the use of velerinary drugs, ‘The prudential use of antimicrobialy, including
adherence to withdrawal times for meat and milk, are becoming major concerns of the
many velerinary associalions.

In the phrase "herd epidemics", which description has the closest meaning to the term
‘epidemics®?

1) Diflfusion of pathogens in herd

2) Outbreaks of diseases ameng the animals

3) Prevention of discasces in all animals

4) An increased frequency of diseases

According to the text, food products should be free from all of the following items
EXCEPT e .

1) chemical clementy 2) antimicrobial agenis

3) pathogen free materials 4) harmful medications

Which definition best implics the meaning of “xcenobiotics®?

1) A varicly ol antibiotics 2) Any pathogenic [aclor

3) Contamination ol mcat supplics 4) Forcign substances for biological sysiem
According to the passage, ‘The prudent usage of antimicrobials’ implics ----—--——-- ;

1) the restricted usage 2} allowed without restriction

3) administration with caution 4) limiting percentage

What is the principal concept of this passage which could also be the best title?
1) Evaluation of animal diseases

2) Contamination ol the herd

3) Animal care and breeding

4) The rolc ol velerinary carce in preventling discascs
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PASSAGE 3;

Activation of leukocytes at sites of antibody deposition results in releasing substances
by these cells such as reactive oxygen species and lyvsosomal enzymes that damage the
adjacent tissues. Antibodies against tissue antigens and immune complexes deposited
in vessels induce inflammation by attracting and activating leukocytes. If antibodies
bind 1o cclls, such as crvthrocytes and platelets, the cells are opsonized and may be
ingesied and destroyed by host phagocyles.

Antibodies specific for cell and tissue antigens may deposit in tissues and cause injury
by inducing local inflammation. or they may interfere with normal cellular functions.
lg GG antibodies of the lg GG and lg G3 subclasses bind to neutrophil and macrophage
I'c receptors and activate these leukocytes, resulting in inflammation. Some antibodies
without dircelly inducing tissuc injury, may lead 1o a discasc which this could be
happened in & spectrum ol discascs. In this line, probable inhibition of the reeeptor
function by the action of antibodies against hormone receptors may be considered. As
an evident, in some cases of myasthenia gravis. antibodies against the acetylcholine
receptor inhibit neuromuscular transmission. causing paralysis.

In the process of inflammation, damage to tissues occurs by releasing all of the following
substances EXCEPT --—moeeeev,

1) lysozyme enzyme 2) reactive oxygen species

3) enzymes of lvsosomes 4) inactive oxygen receptors

Which group of blood cells is safe against the destruction due to combination of
antibodies with opsonins?

1) Thromboceytes 2) Ervthrocytes and leucocytes

3) Red blood cells 4) White blood cells

Induction of Inflammation can be donc through all of the following routs EXCEPT ------———-- A
1) antigens deposition in tissues 2) activating and attracting lenkocytes

3) deposition ol antigens in vessels 4) altracting and activaling erythrocyics

Binding the 1gG antibodies to Fe receptors of all of the following leukocytes leads to
inflammation EXCEPT —-—am—- .

1) neutrophils 2) monocytes 3) basophils 4) macrophages

The main cause for paralvsis in myasthenia gravis is due to --—--—--—-,

1) induction ol damage 10 tissucs

2) preventing antigens dirccily access 1o Lissucs

3) motivation of antibodies against antigens

4) inhibitory effect on a receptor function
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